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SocioLoGgy

1. In Max Weber’s framework of
stratification, life style can be associated
with which phenomenon?

(A) Class
(B) Status
(C) Party
(D) Race

2. Which scholar emphasized that people can
learn the ‘sick role’ through socialization?

(A) G. H. Mead

(B) Talcott Parsons

(C) Bronislaw Malinowski
(D) Robert K. Merton

3. According to Durkheim, which one of the
following is not an element of social facts?

(A) Collective phenomana
(B) Coerciveness

(C) Individual phenomenon
(D) Having its own course

4. Whoamong the following contributed to conflict
theory?

(A) Vilfredo Pareto and Talcott Parsons
(B) Jeffrey Alexander and Robert Merton
(C) Ralf Dahrendorf and Karl Marx

(D) Max Weber and Emile Durkheim

1. ST SERIR F© BRI FIENCS G411
RIS @ R At I 2
(A)
(B) AfE AAwsriwl
©) =ifs
(D) wifs

2. fasfeiRe e beifmmiessae-aa e
PR @Ie7-97 @y IR T (A == [7ab
R [SACERICRTE

(A) f&. @3p. fe
(B) TIIERRRG w17
(C) . suifewfz
(D) W7 . Wow

3. TrdEw-«3 wre s @ e
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(D) Zifer 257 e @pf

[ N o
4
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(B) (% SNEIGISIF € 15 Ao

(C) T TG € s AFA
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5. Identify the correct sequence of social
transformation as elaborated by Karl Marx:

(A) Ancient society, feudalism,
capitalism, socialism,
communism

(B) Feudalism, ancient society,
capitalism, communism,
socialism

(C) Ancient society, communism,
capitalism, feudalism, socialism

(D) Communism, ancient society,
feudalism, socialism, capitalism

6. When was the Hindu Adoption and
Maintenance Act was enacted in India?

(A) 1939
(B) 1956
(C) 1968
(D) 1970

7. Which one of the following is an example of
Marx’s concept of ‘relations of production’?

(A) Labour

(B) Capitalism

(C) Land

(D) Division of Labour

8. Which one of the following does not come
under Mertonian ethos of science?

(A) Communism

(B) Universalism

(C) Disinterestedness
(D) Organized dogmatism

5. el S AT Foies iy Sea
ﬂfww:
(A) 2B ANE, ANETOT, (9T,
FAESF, AW
(B) AT, AB ANG, 4oF, AT,
BRSOk
(C) BN, AW, 4oF, ATET,
BRSOk
(D) AW, 2Bl ANE, AMTOT,
TAGTOE, L ToF

6. SO (< B TG @ TR 2
FAFT 22
(A) 1939
(B) 1956 G
(C) 1968 G
(D) 1970

7. fefefie e Swizadt Teodm
TRE -9 T 4I9el B Ay =@ e
(A) =
(B) T
(C) @
(D) =EeleH

o

8. fgferfie @@l wiba-ge Feww Tife—=
o|fzifece #its T2
(A) ARGV
(B) HGaIToRMm
(C) fafeferel
(D) kalfFe cofreif




9. Which country was the firstin popularizing
the concept of ‘social exclusion’?

(A) United Kingdom
(B) France

(C) Germany

(D) Italy

10. In which year the Government of India
introduced the concept of ‘innovation’ in its science
policy?

(A) 1958
(B) 1983
(C) 2003
(D) 2013

11. What are the four forms of
triangulation?

(A) Data, Investigator, Theory and
Methodological

(B) Data, Field,
Methodological

(C) Data, Investigator, Theory and
Interviewee

(D) Data, Investigator, Theory and
Epistemological

Theory and

12. Which one of the statements is correct in
relation to Durkheim’s study of law?

(A) Mechanical solidarity is
characterised by restitutive law

(B) Organic solidarity is characterised

by representative law

(C) Both the solidarities are

represented by representative law

(D) Mechanical solidarity is

characterised by repressive law,

while organic solidarity is
characterised by restitutive law
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9. NN qC-aq QAT AT @ @

Gl AR 2

(A) TSARGE [eces
(B) =™

(C) et

(D) Zelfe

10. SIFS FIFE @ 2@ [ Fifs-
(S T[T -7 (NG 2<TS B 2

(A) 1958 AitsT

(B) 1983 AitsT

(C) 2003 AitsT

(D) 2013 itsT

11. GIZSIRYTEHT-9F BT 257 F F?

(A) (©Bl, 3Cehoeabe, Rt wrw
(AT G

(B) (TG, o=, fasfas wyiw
(AT G

(C) (TBl, ZCehBanT, fef sie
EXOEIEER

(D) (@51, Fcef6eib3, ez srie
QAP

12. fsfafs e Ryl godemm iz semeer
43 SAfeafrce Al

A) Tifgs  wczfea @M% =z«
ARSIt T2

(B) tafas wczfox Ifg =&
Afeffgyers sz

(C) Afeffaee =ga ¥2 «Aca
efors Afeffrg a=

(D) efstisnrRe =z g Aeefon
[SIRPACE e R CE R E R
TR Aezfox @

[ Please Turn Over ]




17

13. According to whom “Society is maintained
by virtue of humans’ ability to role-taking and to
assume the perspective of generalized

others”?

(A) Charles Cooley
(B) John Deway

(C) Herbert Spencer
(D) G. Herbert Mead

14. Who has written the book ‘Women in
Contemporary India’?

(A) Leela Dube
(B) Alfred D’Souza
(C) Kathleen Gough
(D) Veena Das

15.  According to Merton, innovation
is a mode of adaptation when cultural
goals are and

institutionalized means are
(A) rejected, rejected
(B) accepted, accepted
(C) rejected, accepted
(D) accepted, rejected

16. Who among the following is the author of
the book ‘Postmodern Gandhi’?

(A) L. Rudolph & S.H. Rudolph
(B) A.Bhatt & B. R. Chauhan
(C) M. Singer

(D) K.S. Singh

17. Who is the author of the book, ‘African
Systems of Kinship and Marriage’?

(A) Bronislaw Malinowski
(B) Claude Levi-Strauss
(C) A.R.Radcliffe-Brown
(D) W. H.R.Rivers

13. “E1Ef0 29 IR0 12 ©if o1 fReeT
«f2fe1fS § caet-Gi s § sige @ Aeisisite
IF (GAICEIREE WA — 3 0 &I
foeifima awe?

(A) BT G
(B) & T

(C) 2RG =
(D) f&. 2. fiw

14. ‘S 3 el e’ oz
W F2
(A) Tl qea
(B) SIS f&os
(C) il o
(D) et 77

15. BEE 0o TEIR 25 GF 0 S 2fe
I IO oy efel 2= 3% 2lifewifas
Myl 2= |

(A) TEsce, [rewne

(B) SHIFCIAGE, SHFEAGS
(C) Frea@me, SHFEIlne
(D) OGS, REHme

16. fasfoRet s ‘oo oA 2gta
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(A) 9. FCEF G3R G, G35, FOTTF
(B) «.©f6 @k 1. w117, Bz
(C) @v. g
(D) &. 9. PR
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2zfox ool &2
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18. Who narrated the emergence of ‘half-flow
and being’ in the globalised soceity?—while
describing mobility and identity
formation in the information society
(A) M. Castells
(B) A. Giddens
(C) A. Touraine
(D) U. Beck

19. Which one of the following type of identity
is not elaborated by Manuel Castells in this work
on ‘Identity in the Informational Society’?

(A) Dynamic identity
(B) Protest identity

(C) Project identity

(D) Legitimizing identity

20. Given below are two statements:
Statement-1 : According to Alfred Schutz,
the world of everyday life is
not permeated by the epoch of
the natural attitude

: All the objects of the social
world are constituted within a
framwork of familiarity and
pre-acquaintanceship
In light of the above statments, choose

the most appropriate answer from the

options given below:

Statement-2

Codes:
(A) Both Statements-1 and 2 are correct
(B) Both Statements-1 and 2 are incorrect
(C) Statement-1 is true but Statement-2
is incorrect
(D) Statement-1isincorrectbut Statement-2
is correct
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18. i e 2-@Fl Sy [ S
T (F & IR @ Tl A=A (@ 2T A
EIIRGTS AveTel @ #ARDRS st et ?

(A) 9. FIEH
(B) «. force™
(C) «@. Gz
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o

19. e @R @@ 2R TS syEs
PG O RIS FIS SNBCGATHTG 2o (1 STFACHH A
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(A) TR wiRmEabh
(B) (A7 ABCeHo
(C) (AIteTE SBCTABH

(D) EIfEbaEler wireanh

20. 46 A3/ s (re 7=

@, AO-9F W09, ‘the world of everyday
life is not permeated by the epoch of the
natural attitude’

39 -2 = All the objects of the social world are
constituted within a framwork of
familiarity and pre-acquaintanceship

Tifate fgfoulem fefere faafiis A sl
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(B) [Jfe-> @ & Toxz gl
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21. Whichofthe following principles arerelated
to the post-modern movement?
(a) Argument in favour of method
and evalution
(b) Application of literary analysis of
all phenomena
(c) Argumentagainst powerrelations
and hegemony
(d) A questioning of reality and
representation
Find the correct answer:
(A) Both (a) & (b) are true
(B) Both (¢) & (d) are true
(C) Both (b) & (d) are true but (a) and (c)
are false
(D) Both (a) & (c) are true but (b) and (d)
are false

22. Identify the stages of completion of a
research project from the options given below:

(A) Collection of data, Review of
literature, Pre-testing, Finalizing
resesearch tools, Data analysis,
Writing reports

(B) Review of literature, Pre-testing,
Finalizing research tools, Data
collection, Data analysis and
Writing reports

(C) Pre-testing, Finalizing research
tools, Review of literature, Data
collection, Writing reports

(D) Data collection, Finalizing
research tool, Review of literature,
Pre-testing, Writing reports

21. FfEe @ Sifst Sea-wyfe< Siwie=s
A Tl 2

(a) *M&fs @ JeEa-a9 2t [Jfo

(b) TOIRAE ARl AT 2l

(c) HTOF 7F @ wfysier-«7 ewera gfe
(d) eI ¢ Afefiarem (Fa o4 T

o Teals [dioa T
(A) (a) € (b) Tex2 A
(B) (b) € (c) Tex® 7Mow
(C) (b)'8 (d) Tex2 7, € (a) € (¢)
%
(D) (a)€ (c) T=33 7, 8 (b) € (d)
%

22, 5IER9N 2FE-9F AR A T
g aRTRe Renule sy Qe hize
e :

(A) ©RRE, 23 RN A,
AF- AT, AN AT
feize, o2y feaas @2 fesilt 2e
41

(B) 7I4F® SIE@RelT D, 2%
AT, SRR S e,
w2 ez, O fqeead @3k el
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(C) ARE-5{31, SCReN Cofeael iz,
MfErera AAfieEna, w2 FceE, Feib
24FS 4l

(D) ©2 2, SIERNT ool fefigel,
A, el awe Fat




23. Find out the correct answer from the
Assertion givenin (A) and the Reason givenin (R):

Assertion(A) : For Durkheim, society
is a set of
interdependent
institutions

Reason (R) : Forall functionalist thinkers,
society is treated as an
integrated whole, composed
of structures which mesh
closely with one another

Select the correct answer from the codes given
below:

Codes:

(A) Both (A) and (R) are correct, and
(R) is the reason for (A)

(B) Both (A) and (R) are correct, but
(R) is not the reason for (A)

(C) (R)is true but (A) is false

(D) (R) is false but (A) is true

24. Who among the following is
associated with the concept of ‘paradigm
shifts’ in natural sciences and social sciences?
(A) Thomas Kuhn
(B) Karl Marx
(C) Erving Goffman
(D) Karl Mannheim

25. Anthony Giddens defines agency
as—
(A) Whatactor actually does in a situation
that has visible consequences
(B) Actorsideaonintended consequences
(C) Unconscious pressure on actors
(D) Reflexive monitoring of actions

17
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X-10

26. Select the correct statement on interview
schedule as research technique:

(A) Interview schedule is sent by mail

(B) Interview schedule is filled in by
the respondents

(C) Interview scheduleis sent by mail
but are filled in by the researcher
after receiving input from the
respondent

(D) Interview schedule is personally
carried on by the researcher and is
filled in by the researcher himself
or herself in the field

27. Match the List-I with List-11:

List-1 (Works) List-1I (Authors)

(a) Inthe Belly of the River: (i) Ramachandra

(b)

(©)

(d)

26. SR (e R AR Oifewe
a2y Afos el FMaiva e

(A) AT SIfFTH TS AN 27

(B) IS SifeTsrl Seamisl ferer o7l
T

(C) AFFIIHIT O ©IE 2NN 7,
e Tk siend fofare @ws
G 7[R9 TR

(D) 5T WSR2 ArFIHF Olferl (g
T foic e (1o o=l e

27, SIfel-1-93 AL SIeTHl-1I-F T :

Tribal conflicts over Guha
Development in the

Narmada Valley

The Unquiet Woods:
Ecological Change
and Peasant Resistance
in the Himalayas

Shifting Sands: A study (iii) Amita

of Rights in common Baviskar
Pastures
Staying Alive: Women, (iv) Vandana
Ecology & Survival Shiva
in India
Codes:

@@ (b (© (@
A) (@) G @) aGv)
B) G G @ 3>Gv)
© G aGv) (@@ (i)
D) Gi) @@ G Gv)

(i1) Rita Brara

SifeRpl-1 (I2EF ) SifeRpl-11 (F14F)
(a) In the Belly of the River: (1) INbY @R
Tribal Conflicts over
Development in the
Narmada Valley
(b) The Unquiet Woods: (i) fret @r=t
Ecological Change and
Peasant Resistance
in the Himalayas
(c) Shifting Sands: A study (iii) wIfsre!
of Rights in Common AR
Pastures
(d) Staying Alive: Women (iv) I foret
Ecology & Survival
in India
PO :
@ G @© @
(A @Gi) G @G 3v)
B) G @) @ (@)
© @)  Gv)y @@ aD)
D) @iy @G G 3v)



28. For Max Weber ‘Verstehen’ involves
(A) Intution
(B) Sympathetic Participation
(C) Rational Procedure to Study
(D) Empathy

29. In which one of the following books M. N.
Srinivas first defined the concept of Sanskritization?
(A) Religion and Society among the
Coorgs of South India
(B) The Remembered Village
(C) Social Change in Modern India
(D) On Living in a Revolution and
Other Essays

30. Which theory postulates that
developing economies would eventually
catchup with developed economies if they followed
the economic and social systems of Western
Capitalism?
(A) Dependency
(B) Subaltern
(C) Marxist
(D) Modernization

X-11 17

28. 9 SRAR-FO IO 2
(A) wiTgfe
(B) RITgfesiet wicxiaze
(C) SR @Ifes “mafo
(D) zafsfel

29, MEEIRS @FF B0o @¥. . P 42
AT A AT Sz 2
(A) Religionand Society among the Coorgs
of South India
(B) The Remembered Village
(C) Social Change in Modern India

(D) On Living in a Revolution and Other
Essays

30. F e @ ogl FFE I @ ST
wdAife Tye wdAifere TR® zoo g I ol
AR (ST W ATSF @ AT B Sl

A
(A) fTSz915 og
(B) fwaiz og
(C) TS ©g
(D) SNYfFIFae ©g
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31. “Changes in family life and relationships
are being shaped by the development of modernity”.

(A) Y. Singh & T. K. Oommen
(B) G. Ritzer & D. Macey

(C) M. N. Srinivas & R. Thapar
(D) U. Beck & E. Beckgernsheim

32. Who among the following scholars have
emphasized upon the issue of ‘Legitimation Crisis’
in the modern capitalistic societies?

(A) Jurgen Habermas
(B) Clifford Geertz
(C) Edward Said

(D) Karl Manheim

33. Who amongst the following argued that,
“historical processes are inherently unpredictable”?

(A) Auguste Comte
(B) Karl Marx
(C) Max Weber
(D) George Simmel

34. Who among the following
sociologists focused on dramaturgy similar to those
performed on the stages as part of social life?

(A) Marshal McLuhan
(B) Mannuel Castells
(C) Erving Goffman

(D) Jurgen Habermas

X-12

31. “Changes in family life and relationships
are being shaped by the development of modernity”.
Trifiee el & M 2

(A) €. PR g . 3. TeW

(B) f&. e @z fe. iy

(C) 9. @ AT 932 ==, A=
(D) T. (7F % 3. (FGIIET

32. Hferie @ owim eyl ol e
‘EITEEMI FEPPT-a7 So7 (o et 2
(A) (& (ZAF
(B) . folbw
(©) 2 o’
(D) . Rz

33. “Historical processes are inherently
unpredictable”-a FCREW N5 @4
oifgEa T 2

(A) Q. Fe
(B) (. W
(C) «¥. €A
(D) f&. Prews
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(A) SfieT TFgRI
(B) ST FICHe
(C) =ir=fer sRFsia
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35. Panchanan Burma is associated with which
one of the following movements of Bengal?

(A) Banga Bhanga Movement
(B) Rajbansi movement

(C) Gorkhaland Movement
(D) Tebhaga Movement

36. Which of the, following concepts was not
used in the Parsons’ synthesis of ‘Voluntaristic
theory of action’?

(A) Utilitarianism
(B) Interactionism
(C) Positivism
(D) Idealism

37. Whichone of the following books
written by Emile Durkehim represents a
methodological interlude that clarify
approach to sociological analysis?

(A) The Division of Labour

(B) Elementry Forms of Religious Life
(C) The Rules of the Sociological Method
(D) New Rules of the Sociological Method

38. Whoamong the following is the numerically
dominant tribe of West Bengal?

(A) Bhumij
(B) Munda
(C) Oraon
(D) Santal

39. Who founded empiricism and rationalism
respectively?

(A) Rene Descartes and Francis Bacon
(B) Fransic Bacon and Paul Feyerabend
(C) Francis Bacon and Rene Descartes
(D) Karl Popper and Francis Bacon

35. ol2elee TS QRGNS (I SIS A G
T 2
(A) I3 HICwieTd
(B) FGAAT Sl
(C) oIS ST
(D) Cowl5i SicwieT

36. Ty affe arenefr s @
APA-F© SETHIE S Oy T2
iz e

(A) Zefmime

(B) ToRerRe=faes

(C) ~ifEifoes

(D) SifeIferer

37. faex 3ffs @M J3rs afim wodes st
safs ReEee S IR0 I ARIE Tereifes
e AfwReE Sogiem 1 17 2

(A) 7 fofexia oI @@

(B) «fTeroif iy e fafeiferasnizs

(C) Trzemr e fn GiitresiEme (ew

(D) 8 =™ o% W EifresiEme
WG

38. fary affe Soafema Sy i1 ARSI
AT W (A Tl MR ?
(A) gfie
(B) oI
(C) eae
(D) ewE

39, wfeeeW € IfEAM-aa AqS FITAE
JIA AT ?
(A) IR, (CATEDA R . (@
(B) 9. @@ @R 9. RS
(C) 9. (@ O3 . (CATRLA
(D) (. A AR G, ([Fe
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40. Match List-I with List-1I:

List-1 (Paradigm) List-1I (Contributors)
(a) Paradigm of anticipated (i) S. Stouffer
(socialization)

(b) Paradigm of the
nuclear family

(i1) M. Weber

(c) Paradigm of relative
(frustralion)

(d) Paradigm of the birth
of capitalism

(i1) T. Parsons

(iv) R. K. Merton

Find the appropriate one from the codes given
below:

Codes:
@ B © @
A) () (@ >Gv) (i)
B) @ () @G (1)
© Gv) ai) (@ 3G
D) Gi) @Gv) G @)

41. Who gave the conceptof ‘Plastic Sexuality’?
(A) Ulrich Beck
(B) Zygmunt Bauman
(C) Anthony Giddens
(D) David Matthew

X-14

40. ©fFTR--93 A OfeTm-1-97 e @A:

eI (FnFIfos)

Ol (ST

(a) AT o1 SnfShIeIde (1) 9. o
(GRS

(b) “=ifes s fr ST (i) @av. @A
wifafe

(c) =h=ifes oi% fwbe (i) 5. =it
(PTG

(d) =t s 1 e (v) 4. . oo
o1 ifeiGifeTe

FLPOGIE (UE FIF GGG [ ey
TRCPOTYR

@ ® (@© (@@
A G @ >Gv) (i)
B) @ aG) () (Gv)
€ Gv) @) @ (i)
D) Gi) Gv) G @)

41. ‘2PET CRRIFD 4=ea 47e 2
(A) TR @
(B) &S (Ii=
(C) =OIoH forceem
(D) (sfew TrY®
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42. Who among the following scholars has
written the book ‘Affinity as a Value: Marriage
Alliance in South India with Comparative

Essays on Australia’ (1983)?

(A) Kathleen Gough
(B) G. D. Berreman
(C) Louis Dumont

(D) Claude Levi-Strauss

43. Who among the following coined the term
‘Symbolic Interaction’ in 1937?

(A) G. H. Mead

(B) Herbert Blumer
(C) Charles Morris
(D) Charles Cooley

44. Who among the following
sociologists distinguished between the
‘basic’ and the ‘derived’ needs?

(A) A.R. Radcliffe Brown
(B) B. Malinowski

(C) F. Boas

(D) C. Levi-Strauss

45. Following are the theories of feminist
movement. Arrange in an ascending order:

(a) Radical feminism
(b) Liberal feminism
(c) Black feminism
(d) Marxist feminism
Find out the correct sequence:

A @ © O (@
B) © @ (@ (b
<€ ® @ @ (
® @ ® © @

42. ‘Affinity as a Value: Marriage Alliance in
South India with Comparative Essays on Australia’

(1983) — @2 =3 FHlefde @ @4
(A) LA™ 9%
(B) f&. fe. @
(C) =2 Tl
(D) F¢ -3

o e

43. xferis Seifvos S 1937 Al
‘AR AR =TT 2ke &2
(A) f&. @3p. i
(B) =06 g
(C) B Iz
(D) BI=1 =1

44. fsERe IEeiigrma W & QAR @
‘e SifRvIa N A1ef e ?
(A) €. 9. @OFT IS
B) . ez
(C) &% @R
(D) M. @fe-3

45. et SeEETog |

L‘]@%{@WW@W

(a) G e

(b) TeR=IeT e

(c) TIT e

(d) TFEPS crffres

A SIS AF Teat v F:
A @ @© @» (@
B) © (@ (@ (®
<© b @ @ (©
D) @ ® @© @@
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46. Sample which fulfils the requirements—
representativeness, reliability and flexibility— is
called

(A) Stratified sample
(B) Optimum sample
(C) Accidental sample
(D) Cluster sample

47. Which among the following scholars can be
associated with the idea that modern electronic
media tend to create a global village?

(A) Sylvia Walby

(B) Pierre Bourdieu
(C) Erving Goffman
(D) Marshall McLuhan

48. Punishments associated with
expectations, are called:

(A) Norms
(B) Values
(C) Mores
(D) Sanctions

role

49. Who defined caste as, ‘“the
superposition of endogamy on exogamy”?
(A) H.Risley
(B) Louis Dumont
(C) G.S. Ghurye
(D) B.R. Ambedkar

X-16

46. T @ AREHER T F@ O 2
effefnfzgsers, FearIay ¢ TR — it F =l
277

(A) TgS T
(B) TGS Il
(C) ST o=l
(D) v T3l

47. TfTe Hma W2 & Y SERGee
FfCw-2 e fetee @6l tofd Tz ?
(A) Pefent enefa
(B) o @i
(C) wN=feR siFsie

(D) SIR™IIET SPIFRI

48. I ShRAI-bIRwIE Ao *Iifew T
o S oI <T@l 2

(A) =

(B) R

(C) G

(D) Tig=i1

49. RS @ @145 T Ao T
— “ft FAolra=iferm s oo s Qe e
(A) 92p. faes

(B) @, Tl
(C) f&. @1 9
(D) . 94, WiEwea
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50. Given below are true statements labelled as
Assertion (A) and Reason (R):

Assertion (A) : Indiaexperiences the
phenomena of increasing rural
to urban migration

Reason (R) : Rural India experiences
the phenomena of declining
land-man-ratio and increasing
un-employment among the
youth

Select the correct answer from the codes given
below:

Codes:

(A) Both (A) and (R) are true, and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R)
is not the correct explanation of
(A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

51. Which one of the following principles does
not match with general epistemology?

(A) Principle of Economy

(B) Principle of Religion

(C) Principle of Negligibility
(D) Principle of Concentration

52. Who has systematically undertaken
the influence of politics on science in his study of
sociology of science?

(A) Emile Durkheim
(B) Max Weber

(C) Robert K. Merton
(D) Tom B. Bottomore

50. sl RIE(A) € & (R)-9a g 1%

B9l e
R (A) : ORIE &N (QIeF =120 AfRae-
QT TR I T 1 0
JE(R) -« aAfid SlFeTd AR 8 GhiE
T Ae-9 FAFAfe @3g
TITEMIEL N G
FFY T 1 AR
TIPOITIZ (P I GG [y <5 5
MIFOITIZ -
(A) (A) ¢ (R) Toxd Afos @<k (R) =71
(A)-7 &= M= 71t

(B) (A) ¢ (R) Tex As F€ (R) =1
(A)-2 &= gaT Il

(C) (A) == 15 5@ (R) o1 gt

(D) (A) =z w1 5% (R) Z&1 A(5F

51. fFwffee @ et A wTerea
e 3 2
(A) TefFsiet o 3
(B) fafstetet ore faferferae
(C) faftoret s @afefaRiat
(D) e o FaETEEE=

52. (PNl eIt G2 F A fod 2o
O R TG o e d SR ABIRFC AT P2 ?
(A) 3. godew
(B) &3, SR
(C) O @M
(D) . RIGe=
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53. Keepinginview E. Troeltsch’s contributons,
arrange the following religious organizations in
terms of size and membership from

smaller to larger:

(1) Denominations

(i1) Church

(iii) Cults

(iv) Sects

Choose the right answer:

(A) G G @) Gv)
B) G (Gv) @ (D)
© @iy @Gv) @) (D)
D) @ Gy (i) @Gv)

54. Who among the following used the
concept of organic composition of
capital?

(A) Karl Marx

(B) Max Weber

(C) Emile Durkheim

(D) Ralf Dahrendorf

55. What is ‘instrumental rationality’?
(A) Traditional action
(B) Affective action
(C) Value-rational action
(D) Goal-rational action

56. According to Jurgen Habermas,
which realm of social life helps people to resolve
differences of opinion by rational argument?

(A) Knowledge and Human Interest
(B) Public Sphere

(C) Dogmas

(D) Discussions

X-18

53. 3. GFoe 93 Samie SRR €3 Ao
S @ AR TSfere Fth Sl Aela:

() Tt
(i) 5
(iii) F6A

(iv) 18R

e &~

AlGF TEAD WD Feeel:
A) Gy G @ Gv)
B) ) Gv) @O (i)
© @) aGv) @ (D)
D) @ G G  (Gv)

54, Ffeie Teeifesma S @& wefifes
S o1 FEGE-aF 417 YT FCE0E ?
(A) ¥ Sl
(B) Wi €EAR
(C) 9fiie grdEw

(D) FETE TIATTH

55. TGO IR I 2
(A) BifTs=& i
(B) SIS I
(C) SIiE-CHET SIiE=ie]
(D) CollT-ICATIE SReist

56. (5. RGNS TG GIAEF (& CFG
TR eyl [ed-9a Fe ool Aam
P2
(A) @ @R SR Tl
(B) sl #ifafa
(C) &M
(D) SIS
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57. What is technological determinism?

(A) Economy, culture and polity
determine the forms of technology

(B) Technology is determined by the
state

(C) Technology develops in an
autonomous fashion unmediated
by any other external influence

(D) Technology is socially and
politically constructed

58. What do you mean by Dwijas?
(A) Believe in rebirth philosophy
(B) Life after death

(C) Born first at physical birth and second
time initiated into Varna Status.

(D) Believes of incarnation theory.

59. Which tribe was mainly associated with the
famous Tana Bhagat movement?

(A) Juangs
(B) Khasi
(C) Oraon
(D) Jogi

60. Epistemology includes which of the
following?

(1) Empathy

(2) Subjectivity

(3) Empiricism

(4) Rationalism

Choose the correct option from the following:

(A) (1) and (2)
(B) (2) and (3)
(©) (3)and (4)
(D) (4) and (1)

61. Which one of the following sets
of concepts is linked to the study of religion by
Durkheim?

(A) Sacred and Profane

(B) Myth and Secret

(C) Value judgement and Value reference
(D) Myth and Magic

57. agfEers Mo e
(A) ST g, T @ AFHPH
< Afed el a1 engfe e

NI&5]
(B) % efew fNdiae s
(C) Y& TrgeiRa e @Ie A
2AOIF 7 Feifde = 7@ wiifre
I Saleife Tom
(D) #3fE ANIfEs ¢ AeEfes i@
SIS S0
58. faer Ie7Co J @R ?
(A) s e e
(B) i< +I% Gl
(C) e = T @R o Sreiea q¢f
QIZ-Ed VLW
(D) =NfSIK org it
59. @ Toigife [T Ol B SHIEES
A TG ?
(A) TR
(B) i
(C) eae
(D) G5t

60. NGRS @ TeiTered A I ?
(1) gusnfa

(2) ARCEHORH

(3) «stteiffres

(4) Fiesferes

e Reasf (@ 7s Teal @ fom:

(A) (1)@= (2)

(B) (2)4@=R (3)

©) 3«4

(D) (4)«@=R (1)

61. TEFRS @ G Trden-ag o SR
ez Al fFe 2
(A) ATES € (2T
(B) T2 ¢ Prean
(C) oJie] GIGTU @ Ofle] (IFICIA
(D) e e Wife=

[ Please Turn Over ]



17 X-20

62. Match List-I with List-11I:

List-I (Marital residence rule) List-1I (Type of rule)

(a) It specifies that a son (i) Neolocal residence
stays with or near his
family after marriage and
his wife moves to where
his family resides.

(b) It describes a pattern (i1) Patrilocal residence
where married children
leave their parents’ homes
and live in a new place
separate from either set
of patterns.

(c) It describes a pattern (ii1) Matrilocal residence
where the couple lives
with or near the husband’s
mother’s brother.

(d) A rule specifies that (iv) Avunculocal
a daughter stays with residence
or near her family after
marriage and her
husband moves to where
her family resides.

62. [F5-1-93 A TP6-1[-9F FH=AF B T<bel:

351 (IR TAF G-I (781
ITBC TS [V7) TfFS [77)

(a) T (I oj@ ez () frseETwe
*[7 e AifR[iEs @I
5 LA PRI

AT BT GR Ol
T G P WA,
G A D |

(b) O« G 47 @A (ii) *nGETes
faifze = foren- e
Aol AT wiisl
FE R TG TN
ARSI A S |

(c) NI GBI 4F @A (iii) iGcETE
<QIfe® B «@a itz
T2 FITF T
APTRICTR I I I |

(d) 9 G0 T @AE  (iv) SSTHETFA
IERICERERDN] @hice
w24 #AfFAIEE IRl
TR T 4R T F1F

T ©IF B9 AfFa= 79w
@A PR FEF T
folc 1™ S |

o 2re F e N (A AGHT F o Fepet:
below: IRCPOHYR -

Select the correct answer from the codes given

Codes:
@ (b)) © (@
(A) (v) (@) @G @)
B) G) @ (Gv) (i)
© @ @Gy @G o 3Gv)
(D) @Gi)) (@Gv) (1) (1)

@ ® (@© @@
A) Gv) G G @)
B) ) @ (Gv) (i)
<G O Gy () (Gv)
D) Gi) Gv) @@ ()
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63. From among the following scholars, who
had explicitly contributed to words social mobility?

(1) Charles Murray
(2) Edward Said
(3) David Glass
(4) John Goldthorpe

Select the correct answer:
(A) (3) and (4)
(B) (1) and (4)
(C) (2)and (3)
(D) (1) and (3)

64. Which one of the following actions is not an
ideal type of social action according to Max Weber?

(A) Action guided by valuerationality
(B) Reflective action guided by result

(C) Affective action determined by
state of emotion

(D) Traditional action

65. Which one of the following concepts is
related with the phenomenon of dysfunction of
Indian society?

(1) Inequality

(2) Structural differentiations

(3) Relative deprivation only

(4) Power and relative deprivation
Find the correct one:

(A) (1) 1is true, but (2) is false
(B) (2)is true, but (3) is false
(C) (3)istrue,but (1), (2) and (4) are false
(D) (4)istrue, but (1), (2) and (3) are false

66. Analliance of alower jati woman to
a higher jati man, is technically associated with
which type of marriage?

(A) Pratiloma (hypogamy)
(B) Isogamy
(C) Exogamy
(D) Anuloma (hypergamy)

63. fafeiike Teeifesma i & AN
FHETS! FTATE AN ST (TR ?
(1) B eI
(2) GBS 2w
(3) cefeT
(4) & (sl
AT Teals [ive T
(A) (3) 9k (4)
(B) (1)@= (4)
(©) (2) ¥R (3)
(D) (1) 93k (3)

64. S CRRIER o WHke fFmekrm e
@RS S femaa smsfiot 7212
(A) SR 9130eT A3 e i
(B) Faarsioe il siigres A3 @@s
(C) ShitTrve Sy feoEfae a2 (o0
I B
(D) FifSaie1 Srieia

65. fagfeifiie @@= NG Sew AwcE
oI G w1 i Fe 2
(1) SRy
(2) FIIITS 212
(3) ©y AR qeel
(4) "ol G SATHS e
o Teals [doa T
(A) (1) s € (2) gt
(B) (2) o 5 (3) o
(©) (3) 3= 5% (1), (2) € (4) TA
(D) (4) A= &€ (1), (2) @ (3) g&

66. T4 I NI eifed wfzeT A Of wifes
PR (TS T Zoe & o (R {[EE
ToIHCE N AE?
(A) ST (eI
(B) Stigeleni
(C) @iy
(D) SFEEN (RARAI)
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67. Match List-I with List-II: 67. 51 S fFP5-11-93 ) TS Blof F3eeT:
fer-1 (7arerelfess) ©IfFE-I (71af%)
(a) 3. wodEw (i) SIHZETE
AL
(b) . etz (i) SICAF 2IFrw
List-1 (Sociologist) List-1I (Method)
(a) E. Durkheim (1) Participant
observation
(b) B. Malinowski (i1) Indirect
experimentation
(c) A.Schutz (iii) Evolving typology (c) 9. 7og (iii) Fegfon Ko
of culture faotef
(d) W. Dilthey (iv) Phenomenology (d) Tg. feera (iv) 2ol
Find the correct answer: TPF CGIG [T T

@ ® (@© (@@
A) Gv) @) @@ G
B) @) Gv) G @O
© G @ Gv) (i)
D) @ G G Gv)

(@ ® (@© (@
A) Gv) @) @@ ()
B) (i) Gv) G @O
G ) @ (Gv) (i)
M) @ G G (Gv)

68. is a tentative solution to a 68. EG R BRI BRI GG ERZICINS
problem or hunch T
(A) Sample (A) T
(B) Hypothesis (B) =%
(C) Objective (C) BTy
(D) Case study D) @ 51
69. Who among the following said, “Culture is 69. TEfiRema & & R, “?{(g;% G|
the man-made part of environment”? TIPS AR oA 2
(A) Emile Durkheim (A) @fim W
(B) Robert Brown (B) 7@l ares
(C) Melville Jean Herskovits (C) @l (. Qﬂ/@ﬁ%ﬁﬂ

(D) E.B. Tylor D) % . e
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70. Who among the following scholars had not
contributed in the area of economic sociology?

(A) Ivan Illich

(B) Karl Polanyi

(C) Emile Durkheim
(D) Joseph Schumpeter

71. Whichone of the following is an example of
a new social movement?

(A) Tebhaga Movement
(B) Telengana Movement
(C) Naxalite Movement
(D) Gorkhaland Movement

72. Which one of the following practises
matrilineal family structure?

(A) Koya
(B) Garo
(C) Gond
(D) Garasia

73. Whichone of the following is not appropriate
for scientific research?

(a) Itis empirical.

(b) It is non-cumulative.

(c) Itis theoretical.

(d) It is non-ethical.
Choose the correct option:

(A) Both (a) and (b) are true and both
(c) and (d) are false.

(B) (b) is true, but (a), (c), (d) are
false.

(C) (c)is false, but (d) is true.

(D) (a) is false, but (c) is true.

70. sfefie iMoo g @ wdEwfes
ANCOCES (FF0q SIAMI I ?
(A) wIiE. el
(B) . (oAl
(C) 3. wedaw
(D) (& Ao

71. 9 2we @G T ANES
SRS SrIRgel ?

(A) o9l SICHleT

(B) (ST SNCHIE

(C) =161 SICHleTe

(D) (NS SNCwieT

72. 90 276 (B (I e egafeiess sifsarg
JIC Ol T2
(A) =l
(B) el
(C) (I
(D) st

73. T 2ne @ [Reeprrs siEaas
CF0q AT 7 ?
(a) T Aifoe
(b) T TS T
(c) Al wifgs
(d) T SitsTfed
(A) (a)e(b) TeTz 7=, [F€ ()8 (d) T |
(B) (b) Ao, 5% (a), (c) © (d) T
(©) (c) T, (d) 3|
(D) (a) T, (c) A= |
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74. Select the correct sequence of the
progression of sociological theories.

(A) Post-modernism, Evolutionary
school, critical theory, Structural
functionalism

(B) Evolutionary school, Structural
functionalism, Post-modernism,
Critical theory.

(C) Critical theory, evolutionary
school, structural functionalism,
post modernism.

(D) Evolutionary school, Structural
functionalism, Critical theory,
Post-moderism.

75. Which among the following scholars
constributed towards phenomenological
perspectives?

(1) Edmund Husserl
(2) Harold Garfinkel
(3) Alfred Schutz
(4) Anthony Giddens
Choose the correct option:

(A) (2), (3) and (4)

(B) (2) and (4)

(©) (1) and (2)

(D) (1) and (3)

76. Probability lies between and

(A) -l and 1
(B) —1and O
(C) Oand 1
(D) 1and?2

77. Who is the author of the book, “The History
of Human Marriage’?

(A) Ewvard Westermarck
(B) Kingsley Davis

(C) Maclver

(D) Alex Inkeles

X-24

PP

74. Erece ©ifgs wasfog #iF FwEl vaw

(A) CIPB-wGIfeem, BremmiE %,
fEhara fawifa, Fissae
icHiITeTeS

(B) Treleaifa e, Jraviama
FIHIfere, (oG -wg Ifae,
Tepibaiet Rl

(C) T R, Brely=Hi %=,
BT FiAiferer, (oi5-
TG ferer

(D) STelE™Ifa Fe1, ZIFHIFIE
lgelifeTers!, ferbaat [, CoAPG-
TG ferer

75. G5 ome wiferm s @9 wifesme

NG (2o S S ?
(1) 9TTS ZPAE

(2) T NI
(3) SRS Hog
(4) = face™

s sl vae T

(A) 2),(3) @R @)
B) 2)9xR @)
(©) (1) 9w (2)
(D) (1) 9k (3)

76. TG GEN
R o= -

(A) -19axR 1
B) -19xR0
(©) 0@uxr 1
D) 192

77. ‘The History of Human Marriage’ 3364

(TP (F?

(A) Ewvard Westermarck
(B) Kingsley Davis

(C) Maclver

(D) Alex Inkeles



78. Select the correct sequence on agrarian
transition in India:

(A) Zamindary abolition, Land
reform, Farmer’s movement,
Green revolution

(B) Green revolution, Zamindary
abolition, land reform, Farmer’s
movements, Permanent settlement

(C) Permanent settlement, Land
reform, Zamindary abolition,
Green revolution, Farmer’s
movements

(D) Permanent settlement, Farmer’s
movement, Land reform,
Zamindary abolition, Green
revolution

79. Match List-I with List-1I:

List-1(Concepts) List-11(Propounders)

(a) Verstehen (1) Emile Durkheim

(b) Social facts (i1) Karl Marx

(c) Systematic (iii) Karl Popper
falsification

(d) Historical materialism (iv) Max Weber

Select the correct answer from the codes given
below:

Codes:

(@ (b (© (@
A Gv) (@@ (@) (D)
B) Gv) @ () (i)
© Gv) () G ()
D) Gi) G @) Gv)
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78. oI IR FeliE fwsEa A0S
EAYIT DI FPe:
(A) sfmifd 2E S9efy, SimEs,
IS SCWIET, I K29
(B) & 2w, afimifa a2k s=efe,
ShPIER, FIF SACwleT,
RIGARE]

(©) 2 IwITR, ShoRER, atmif
A7 SRE(Y, G {2, ]S
SCIeT

(D) B ICWIAE, FIS DA,
ShPIER, afmifd 29" SKeEfe,
e [z

79. ©IfFE-I-93 AT Offer)-I1-a3 e (e

i@l (7) Ol (27%)
(a) SIGHEA (i) @it grdaw
(b) GAMITIET A (ii) pief 19
(c) Preomite (iii) I A=l
FE PR
(d) FResifses (iv) I C@A=
ibfrafere

N
& o~ 4

el (A AT st Mo s

RCPOTYR
@ (b)) (© (@
(A) Gv)y (@) Gi) (D)
B) Gv) @) G (i)
© Gv) Gi) G @)
(D) @iy @) G aGv)
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80. Match List-I with List-1I:

List-1 (Books)

(a) Caste and the
Economic Frontier

List-1I (Authors)
(i) Yogendra Singh

(b) Society in India (i) F. G. Bailey

(¢) Social Stratification (i) D. G.
and Social Change in Mandelbaum
India

(d) Inequality and Social (iv) Andre Beteille
Change

Choose the correct option:

Codes:

@ B © @
A) G) (@ >Gv) (i)
B) G @) @ (1)
© @) @@ (Gv) @G
D) Gv) @) () a6
81. According to the World Commission on
Environment and Development, what does
‘sustainable development’ refer to?
(A) Development that meets the needs
of the present
(B) Developmentthat meets the needs
of the future
(C) Development that meets the needs
of the present without
compromising the ability of future
generations to meet theirown needs
(D) Developmentthat meets the needs
of the past
82. Ifstandarddeviationis 0.3, then what would
be its corresponding variance?
(A) 09
(B) 0.03
(C) 03
(D) 0.09

80. ©fFH-1-93 AT OfeF-[-9F AL

e
el (%) Oiferer-l (2FF7)
(a) Caste and the () iearm B
Economic Frontier
(b) Society in India (i) @%. & @2

(c) Social Stratification (iii) f&. f& Scs=w
and Social Change in
India
(d) Inequality and Social (iv) (% (A0S
Change
Wﬁw DI PPey :
(PIE7
@ G © @
(A) () (1) aGv) (i)
B) G G G (@)
© Gi) @ @Gv) ai)
(D) Gv) (1) aGi) (i)

81. T ifaca ¢ Taze M St
BfoNe Saae’ i A0 2
(A) TSI Tl IS ARG WO
(B) Tme A SREiced A@IE GoE
(C) THI T TS ARG EO SfTe
PG 2 e A I
(D) TFI I SIS ARG GO

82. IHTCIC (SISt sl 3 0.3
ESACRGECEIMNEEAS  RIERIEORe i
(A) 09
(B) 0.03
(©) 0.3
(D) 0.09
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83. According to , “there is no
exact equilibrium price in social exchange but
only an approximate exchange ratio
between two social benefits, because
personal considerations and social norms
influence the process of social
exchange.”
(A) George Homans
(B) Quentin Skinner
(C) Peter Blau
(D) Pierre Bourdieu

84. Who among the following scholars had
directly contributed towards theorizing urbanism?

(1) David Harvey

(2) Dale Spender

(3) Howard Becker

(4) Louis Wirth

Choose the correct option:
(A) (1) and (4)

(B) (1) and (3)

(©) (3)and (4

(D) (2) and (4)

85. Who introduced the
‘Reconstructive Science’?
(A) J. Habermas
(B) A. Giddens
(C) M. Foucault
(D) P. Bourdieu

concept of

86. Which theory most appropriately
describes a hierarchy of wealthy ‘core’
nations, poor ‘periphery’ nations and a middle
group of ‘semi-periphery’ nations?
(A) World Systems Theory
(B) Structuralist Theory
(C) Limits to Growth Thesis
(D) Rostow’s Stages of Growth

83. -9 ¢S, “there is no exact
equilibrium price in social exchange but only an
approximate exchange ratio between two social
benefits, because personal considerations and social
norms influence the process of social exchange.”

(A) & @0
(B) @5 =g
(C) o= ars

(D) Pl @

84. W(¥ awe Sifgdm@ W I derFeid
urbanism-93 4IFE TGRS F(A ?
(1) cefos gre
(2) (TS TR
(3) REAC @A
(4) 2 e
A5 e b e
(A) (1) @R (4)
(B) (1) @R (3)
(C) (3) 9k (4)
(D) (2) @R (4)

85. W wifegs ‘TGiFe AT -93
{Na &S F 2

(A) (%, A

(B) «. force™

(C) @ T

(D) Tt @y

86. CF 2vre (I ©g ARSI 41 ‘&I, oifq<
‘iR ¢ wge ‘@N-eifRee gl 3¢
Wz 2

(A) eqg e fAef

(B) Zioiaifers fAefd

(C) TIfGAH T e A

(D) GBI EHEE o9 (2L

[ Please Turn Over ]
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87. Iftheincreasing numbers of manual workers
were entering the middle stratum and becoming
middle class, leading to the domination
by amiddle class, then this phenomenon
is popularly called as
(A) Deskilling
(B) Proletarianization
(C) Bourgeoisiement
(D) Embourgeoisiement

88. Which among the following institutions was
not identified by C. W. Mills regarding the power
elite?

(A) Governmental elite

(B) The Military elite

(C) Educationist

(D) Corporates/Businessman

89. Who propounded the concept of ‘Post-
Industrial Society’?
(A) Lewis Wirth
(B) Daniel Bell
(C) Mannuel Castells
(D) Marshall Mcluhan

90. Two statements are given below. One is
labelled as Assertion (A) and the other as
Reason (R):

Assertion (A) : After the green revolution the
inter-caste relations have
changed from Jajmani to
contractual relationships.

Reason (R)  : The greenrevolution has given

opportunities to service caste
in diverse occupations.

Choose the correct option:
(A) Both (A) and (R) are true, and (R)
is the correct explanation for (A)
(B) Both(A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

X-28

87. Iftheincreasing numbers of manual workers
were entering the middle stratum and becoming
middle class, leading to the domination by amiddle

class—9izre @2 Al AaRere =
(A) fefhr
(B) teTeIfE=igrem™ia
(C) DS
(D) INICEADIES
88. “NeAa o Wy @i oD
1. ofgS. fiem fofere Feaafa e
(A) sTeeroE @it
(B) w faiferbifa «feid
(C) agEifes
(D) TeoACaoo/ Rrerernia

89. ‘(oIP% ToIfgaeT GIPIRG T 49l (& 2
R&IEIGOR]
(A) 2 sad
(B) wife@& &
(C) STICsT FICETA
(D) S*fiet SR
90. it RIfs mreaizs, TrashRafe ()
G NG I (R) Bew Hfee
RSIEGE

;S AR A7 ST 1S
eI (AT piEfofes TiF
Afafse 2@ |

e (R) @ 9% e [feq (ol service

caste-(73 19 FF TRz |

"T% ﬁ@ DA p<ee -

(A) (A) @R (R) TeT2 7] @R (R) T
(A)-7 (s At

(B) (A) 9= (R) Tz 5% (R),(A)
2 Gl AT AN T

(C) (A) 1y € (R) T2

(D) (A) f2p 5% (R) 719

R3S (A)
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91. In which one of the following university
Sociology Department was firstintroduced in West
Bengal?
(A) Calcutta University
(B) Burdwan University
(C) Kalyani University
(D) North Bengal University

92. According to 2011 census female sex ratio
(no. of female per 1000 male) of West Bengal was
(A) 856
(B) 900
(C) 956
(D) 1006

93. Which one of the following is a
feature of the informal sector of Indian
economy?

(A) Employment insecurity

(B) Employment as per rule of law

(C) Fixed tenure of work

(D) Unionization of all workers

94. The Gorkhaland Territorial Administration
was formed by replacing the Darjeeling Gorkha
Hill Council in which one of the following years?

(A) 2004
(B) 2012
(C) 2014
(D) 2021

95. Whoamong the following scholar has edited
the work—‘Village India (1955)°?
(A) B.S. Cohn
(B) M. N. Srinivas
(C) S.C.Dube
(D) McKim Marriot

91. fwferie ffRmeTee wor @ s
TN ey el efew! Fat 732
(A) Ferel e
(B) I fmifuiers
(C) F=mia fReefwpiera
(D) Teaaw fifwpier

92. 2011 SvesfE SEEE RN
fzeT forstigeire (e w4l @fe 1000
“JF(a) fest
(A) 856
(B) 900
(C) 956
(D) 1006

o

93, fEfRems W @G oo SPRae
B G (AR 2
(A) FORFIEE FRIsreRTe!
(B) o St Sz
(C) Jitea fne cram
(D) AT R ARSI

94, WIS (oMl 2w S e ave 3 (ol
TS GRGIRRTE SN @i e 39 2
(A) 2004
(B) 2012
(C) 2014
(D) 2021

95, fmfaiie oMo @ fore e
(1955)" = A2HF =AW FCACA 2
A) & @1 &=
(B) @%. @, |ifFaT
(C) @ P g@
(D) sy spIfERG

[ Please Turn Over ]
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96. Who among the following does not belong
to Lucknow School of Sociology?
(A) D.P. Mukherji
(B) A. K. Saran
(C) P.N. Mukherji
(D) Radha Kamal Mukherjee

97. The socio-cultural upbringing in terms of
traditional role expectations from the boys and
girls since their birth is sociologically termed as

(A) Parenting
(B) Gendering
(C) Fathering
(D) Mothering

98. Who is the author of the work—
‘Foot Loose Labour: Working in India’s
Informal Economy (1995)’?

(A) Jan Breman

(B) K. Hart

(C) S.P. Punalekar

(D) G. K. Chadha

99. Who developed the model of Development
of Mass Media through Elitist-Popular-Specialised
(EPS) cycle?

(A) John Merrill and Ralf Lowenstein
(B) Paul Leagans

(C) Wilson S. Roy

(D) Dominik Joseph

100. TheRavatribesarefoundin which
set of the following districts of West
Bengal?
(A) Cooch Behar, Alipurduar and
Jalpaiguri
(B) Darjeeling, South Dinajpur and
Malda
(C) North Dinajpur, South Dinajpur
and Darjeeling
(D) Purulia, Bankura and Burdwan

96. fEfIRO™Ma Sy (& T FA WF
cTfeHTE a Sresf o 2
(A) fC. fol. &t
(B) Q. (3. A
(C) ol @=. JurGt
(D) FKIFTE JAEG

97. W (AL (TE R GIRETA
sToloIfF il erepsiia Toe fefe v
@ ST 91 2T OIS ool HFeid
(e T Tq—

(A) SfoeRFFA!

(B) fomiamael

(C) oz

(D) rgeael

98. “Fb TS A : SRR T 3G BTl
IR (1995) 207 @13 &2
(A) (&, @
(B) .20
(C) @ 91, 7R
(D) f&. . vrowt

99, «felB7 A7 CwEIRST (EPS)
AR TG R a1y KB Tl
& e w2

(A) O (36T @R T ETIGNE03

(B) I ferene

(C) TP @ 7

(D) (SIfslfe (el

100. TS (eriielm Sy @ (ke
BISIRRIISEA IR RES
(A) Fivfazia, wifEsaqaia @3
CELIENIT
(B) wiferfer, nfEwel Werere @) el
(C) Tex a3, wiEee fraiersia @]
wifeifers
(D) =foral, FiFel ¥R I
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